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You only need to wenworize Quadrant | of the unit civcle. The other three quadrants can
be completed using reflections across the vertical and horizontal axes. You may use the

“hang. trick” to help memorize the orde
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On the unit circle, the ordered pairs, (x, y), represent (COS ) S\ VL’) The tangent

___or Smlfl/ . The reci
S

al functions are
Swnd— ’(}'E
OFF

Coseceont
trig Fanctions using the umit circle.
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Let’s complete the table for Quadrant I:
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Use the unit circle above to find the exact value of the six trigonometric functions for each of the
following angles.
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Lise the unit circle above to find the exact value of cach of the following. (Exact value means no decimal
approximations.)
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V) Find all angles & in the interval {
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W) Find all angles @ in the interval [0.271') that satis{y the expression:
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¥) Find all angles & in the interval [D,IZJT) that satisfy the expression:
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